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sin? 30" +cos? 60 +sin30° cos60°
sin? 20" +cos® 50" +sin 20" cos50°

sin®15" +cos? 45 +sinl5 cosd5 =
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sin® o +cos”(a +30") +sinacos(a +307) =
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sin2a+coszﬁ+sinacosﬂ:%, Hih B—a=30", %,
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sm2a+cosz,6’+smacosﬂzz, Hp p-a=30.
iEM: sin’ a +cos® B +sinacos B

=sin* a +cos’*(a +30") +sinacos(a +30°)

_1—cos2a N 1+ cos(2a +60°)

> 5 +sin a(cosa cos30” —sinasin30)

=1 —%cos2a +%cos(2a +60") +73sinacosa _Lsin? g
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=1 —1005205 +lcos2a —ﬁsin2a +—sin2«a —l(l —cos2a)
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@®sin”*30" +cos”> 60 +sin30 cos60’ :% ;
< sin® 30 +sin?30° —2co0s120° sin30 sin30" = % =sin’ 120" ;

VE: cos60” =sin(90° —60") =sin30", 1=-2cos120".
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@ sin? 20" +cos* 50 +5sin20 cos50 = %;

<> sin” 20" +sin’ 40" —2cos120 sin20 sin40 = 3 =sin*120";
4

(3)sin’*15 +cos*45 +sinl5 cos45’ 2%;

<> sin’15 +sin® 45 —2co0s120 sinl5 sin45 = % =sin’120".

i Bl 3K E, BRAFRRRZEHENET.

=\ EAWE, —BEnR
HI AL T J (307 4544 5 AR 52 BARALL, AT A LA R IR AR 1) A% 52 7 B

S 3R sin® 15" +cos® 45" +sinl5 cos45 L Asin® 15" +sin® 45
—2c0s120 sin15" sin45 . fE E 12 A 1M O W #: AABCH, % A=15", B=45, NIl
a=BC=sinl5", b=AC=sin45", C=120", Fillsin’15 +sin’ 45
—2c0s120"sin15 sin45" =a®> +b* —2abcosC = ¢’ :%: sin”*120°.

¥ 1Es%EMa=2Rsin A, b=2RsinB, ¢ =2RsinC, RAR%E a’ +b* —2abcosC =c*,

k843 sin® A+sin®* B—2cosCsin AsinB =sin*C, £ A+B+C=180". (*)
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A+B+C =2k + D)k e Z) B,

iEB: sin® A +sin” B —2cosCsin Asin B
=sin® A+sin’ B - 2cos[(2k + )7 —(A+ B)]sinAsinB
=sin® A+sin’ B +2cos(4 + B)sin Asin B

=sin® A+sin’ B+ 2(cos Acos B —sin Acos B)sin Asin B



=sin® A+sin’ B—2sin’ Acos’ B +2sin Acos Asin Bcos B

= (sin®> A —sin® Acos® B) + (sin”> B —sin” Acos’ B) + 2sin Acos Asin Bcos B
=sin’ Asin’® B +sin’ Bcos® A+ 2sin Acos Asin Bcos B

= (sin Asin B + sin Bcos A4)*

=sin*(4+ B)

=sin’[(2k + 1)z —C]

=sin’ C

fiiblsin® A+sin® B—2cosCsin AsinB=sin’C, 1 A+B+C =Rk +)r(keZ).
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